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Z a, absolutely convergent?
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There is a convergent majorant :> Z Ay is abs, convergent:
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We know the geomelric series:!
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Then .
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Example: Z % convergent? K+1 _ (k+4)! _ 1_ < 1 for all K >/
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Yes! (by ratio fest) (o) = (ke )] )
Warning: Akerq :
nNavaing. - < /] is not enough:
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Root test:  If there is Nn,€IN and 9e [0,1) such that
K IO\K] < ﬂ for all K > N,
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Then Ay is abs, convergent:
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Example: Z (W) convergent? LJ( 3 > _ ( 3 > _ I < J
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Yes, by root test: sl 2+Kk 2+ k for all K >8

Retember: Zih«-sup '*Jh lav] < / :> io‘k is abs, convergent:
k=1
Zihﬂ:uf q"“o\.(] > :> ijo\k is divergent:



